
Mini-Z  F1  S.C.S  w/ V2 
Motor  Mount  Upgrade  Kit

www.rcatomic.com

AF-038

3

4

B

6

2

1

23

A

Package Included
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 1
x 2
x 1
x 1
x 2
x 2

x 1
x 1
x 6
x 4
x 9
x 2
x 2
x 1

 1.  Motor Adaptor
 2.  Main Moto Mount
 3.  Central Shock Connector
 4.  Spoiler Mount
 5.  H-Plate Adaptor
 6.  Susension H-Plate
 7.  Main Stand
 8.  Friction Cover
 9.  Central Shock Part
10. Pivot Ball
11. Pin
12. Shock pin
13. Spring
14. Shock Collar
15. Ball End
16. Carbon Plate A
17. Carbon Plate BL
18. Carbon Plate BR
19. Ride-Height Bushings (0)
20. Ride-Height Bushings 
               (-0.5 / +0.5 )
21. M1.2x3 PM 
22. M2x2.5 KM
23. M2x4    KM
24. M2x6    KB 
25. M2x4    PM
26  M2x6.5 PM
27. M2x5    PB
28. Silicone Oil #100000 

20 19

25

26
27

25

12

9

13

14

15

10

21

7

22

8

11

5

18

16

17

24
24

23

23

25

!!! Part A,B areNOT  included

28

!!! Part C areNOT  included

C


	頁面 1

